ERGOSWISS

table lift systems

| I 000

Montageanleitung DE
Assembly instructions EN
Instruction de montage FR
Instrucciones de montaje ES

M8x25 (Hs)

(@
>

M8 (Hex 13)

M6x20 (T30)

M10 (Hex 17)

6x25 (T30)

76.4/@16x1.6

10x

&

3XM 1x®?,w"" 1x 'e\// ax g 10x
\

5x16 (T25) 6x50 (T30) 6x80 (T30) 3.5x20 (T15)

</

P
4x —— ~ M8
P> o

M8x12

4x /4!4/1/

— 8x 8x
<Y
Sy %
M8x25 M8

50 50 50

6x25 (6.4/@16x1.6

Edition: 2023 06

Doc-Nr.: M-00315

www.ergoswiss.com | info@ergoswiss.com



I '

= = |
Montageanleitung DE

E R G OS WI S S T M - 2 Assembly instructions EN

table lift systems Instruction de montage FR

Instrucciones de montaje ES
A n Schlauch von Hubelement bis

— Pumpe verlegen.

Lay tubing from lifting element to
pump.

Placer le tuyau de I'élement de levage
a la pompe.

& Pase el tubo desde el elemento de
elevacion hasta la bomba.

7.4 Ibfft

Edition: 2023 06 Doc-Nr.: M-00315 www.ergoswiss.com | info@ergoswiss.com



= I = = |
Montageanleitung DE

E R G OS WI S S T M - 2 Assembly instructions EN

table lift systems Instruction de montage FR
Instrucciones de montaje ES

Befestigung der Pumpe PA / PF / PB mit Handkurbel
Attachment of pump PA / PF / PB with hand crank
Fixation de la pompe PA / PF / PB avec manivelle
Montaje de la bomba PA / PF / PB con manivela

SO |
g "Bt
£ |
Ly |
LT, |
\~ N

6X50 (T30) ‘\_\‘ /\*7| &

— 18 |
B
97 mm ! 100 mm
- e -

6x80 (T30) \
A

6x80 (T30)

Edition: 2023 06 Doc-Nr.: M-00315 www.ergoswiss.com | info@ergoswiss.com



i
Montageanleitung DE

E R G OS WI S S T M - 2 Assembly instructions EN

table lift systems Instruction de montage FR
Instrucciones de montaje ES

Befestigung der Pumpe PA / PF / PB mit Antrieb
Attachment of pump PA / PF / PB with motor unit
Fixation de la pompe PA / PF / PB avec entrainement du moteur
Montaje de la bomba PA / PF / PB con accionamiento
@

o

5x20 (T25) 6x80 (T30)

Ergoswiss AG
Néllenstrasse 15

CH-9443 Widnau

Tel.: +41 (0) 71 727 06 70
Fax: +41 (0) 71 727 06 79
info@ergoswiss.com
WWW.ergoswiss.com

Edition: 2023 06 Doc-Nr.: M-00315 www.ergoswiss.com | info@ergoswiss.com



